FIRBENHR—IVT 4 7 A&

RSB HEE S >N —

RS — BT N S BN ,
BEEMIMA T O 7 5 AR BEEMIRE - WSELPI ) — TR

L20244E1H30H

ZRMEBIER  Y— 1 ik

EEE4 1P S IUNA RS0 RE ¥, (W36 (2023)
Wi | AHER RS F1-PS-216, F1-PS-217
ik RS 20245 1H30H ( 8:45 ~ 14:10.)
52 35 R ROR | RiEIE E @Sv/h)
?{\li;t (JZ:I'])E 7%2;@) R (mSy/h) (2024417 23H) ffi#
1 8 B e P (45 1 HE) Nl — —
2 [k e R (35 2 b S — —
3 [ s e BT G5 3 Wi~105 8 1) B — —
4 [ P S B (575 9 B1) 3 R 208 TLEEH 0. 005 0. 005
5 o A e i R TE (515 O BhE) O F 1 JLBES 0.001 0.001
6 K FETEM I RERE (55 9 HE) 3 L 1% TLES 0.001 0.001
1 Tk BEE MR (1 0 140) 10-A T — —
8 [P BETE RGN (1 0 B0) 10-B LB — =
9 TS BESEIT T (1 0 40) 10-C HRES — =
10 —IRETY 7 AL HRE 0. 002 0.002
11 —IERETY T A2 TUEES 0. 050 0. 050
12 —MERETY 7 B B 0. 002 0.002
13 —IFRETY 7 C TS 0. 001 0.001
14 —I S TY 7D TR 0. 002 0. 002
15 —IEETUTE 1 LB 0.003 0.003
16 —M ST TE 2 B . 0.006 0. 006
17 —IRETVTF L, F2 EH 0. 002 0. 002
18 —IRETY 7 FLEER — i
19 —IRETY 7L TLEES 0.001 0.001
20 —WERAETY 7N B — —
21 —IFRETY 7O B 0. 002 0.002
22 —BRETY TP 1 B 0.003 0.004
923 —BHRETY TP 2 BRI 0. 004 0.004
24 —BRETY 7 U TR — —
25 —MfEETY TV B - (RIRA (R - 4h1) — —
26 —IF ST Y TW RS = —
27 —IFRE T 7 X TR — —
928 —MEFETY 7 AA TUBH (1037 (e 40 5%) 0. 001 0.001
29 —IfR%T) 7 BB LB 0. 002 0.002
30 —IETUTCC TR 0.002 0.002
31 —M R TY 7DD 1 - DD 2 TR 0.001 0.001
39 —IETY7EE 1 B 0.001 0.001
33 —IEETY 7 EE 2 HEH 0.001 0.001
34 —BRETY 7 d TR 0.013 0.013
35 —BRETIYT e TR 0.010 0.010
36 —WRETY) 7k (1A L) TR (U0 (el 2¢5) 0. 001 0.001
37 —I5 S T Y 7R A D) TR (U0 3 (a2 5) 0. 004 0. 005
38 — I RETY 71 TR (0l (a4 5) 0.001 0.001
39 —W R 7 m () JLESR — =
40 —ME R T Y 7 m (760 TR — —
41 —BfRET) 7 n TE = —
42 —WHEETY 7 G UEMRAD) TURET - (RIFAR (R 3EAR) 0. 001 0.001
43 —IFRAE T 7 G HERMEEA D) TUBEE - (RITk (HESER) 0.001 0.001
44 —IFRET Y 7 G (L7 i) TE - (RITA (GR1R) 0.001 0.001
45 —HRETY 7 H EMAEA ) FUREE - (RA7A (IR - #4R) 0. 002 0.002
46 —IRE Y 7 H (EMEA D) TUBE « (RATA (REEIR - 4041 0.001 0.001
47 —B T 7 H (7 ) TLEE » (R (B - 3 1R) 0.001 0.001
48 —IERA T Y 7 M (TEA D) TUREH + (RITA (010) 0. 001 0. 001
49 —IERETY 7 M OEAD) JUBERL - (RITA (4R) 0.001 0.001
50 —WRE T 7T B - (R (R — —
51 —IRETY Ta Bl (R A — —
59 —BERETY b 5 1 3 (a4 55 0.002 0.002
53 —IRETY 7 B J1 9 ol 55 0.001 0.001
54 —MHEETY T 5 A 4 5 0.001 0.001
55 —IFRETY 7] 8 1 5 2 A< 55 — =
56 —IRETY To 1 PR A 0. 001 0.001




HILBNR—NT 4 7 A 20244 1H31H
RS — B HEE ) >N = —
T 1 R B
FEEMMA T 07 5 A BEFEMIE - MEELPI )V — TR
EREYER U—X A iRk
TE¥EM4 0 IFH I INAE SRS D RE 2. IWZFE3FE(2023)
Wi | srsss | FI-PS-211
iz 5y 20244E1AH31H (8:41 ~ 12:34)
NihE 2 B Zei Ry ReR {71810 5 f& (mSv/h) i
o D7 i i e i %
1 ¥ K A i R E (585 1 40) LB 0. 007 0. 007
2 1SR IR RE (55 2 1) TR 0.004 0.004
3 ¢ BEE A G HE (385 3 Wi~ %55 8 1)) HE 0.004 0. 004
4 [ eI T (5 9 b J R 2% T o —
5 4 BEEA I EE 5 9 Bl J R L% R — —
6 161 BE A I T (55 9 1) S L L% RER — —
7 [Pk BEER I REE (10 40) 10-A TR — —
8 51 Pk B SE SRR (1 0 449 10-B TS — —
9 Pk HEEIREE (1 0 B 10-C L — —
10 —IFRETV T AL LB — —
11 —MRETYTA2 TLEER — i
12 —MRETYTB HLEE = =
13 —WifRETY 7 C TR = s
14 —WERETY 7D T — —
15 —IFRETYTE 1 LB = L
16 —RE TV TE 2 LB — —
17 —RETYTF 1, F2 LR = Iy .
18 —MRETY T ] TR 0. 005 0. 005 KRN EERURRSITEL LS ADERRELOH
19 —IFRETY 7L LB — —
20 —MEEET) TN TLBER 0.001 0.001
‘T —IRETY 70 LB — —
292 —IRETUTP 1 JLER == )
23 —IRETY TP 2 LB — —
24 —IFRETY 7 U TLEEH 0. 001 0. 001
9% HRETY TV HB - fefih (Bt - 04 0. 004 0. 004
26 —W ST TW TLRES 0.003 0.003
27 —IRETY TX T 0.019 0.019
928 —BERETY 7 AA LS (011 95 (326 2 %) — —
29 —MEfRETY 7 BB LB = =
30 —IRETY 7 CC LB — —
31 —IRETZY7DD1 - DD 2 JLEER b e
32 —BRETVTEE 1 TR — =
33 —KRETVTEE 2 REES - —
34 —MfRETY 7 d FLEE = .
35 —MfRETY T e FLER = ==
36 —BE T 7k (A D) TLEES (001 37 RG22 %) — —
37 —WF RS T ) 7K GEA D) TLEET (07 03 (176 425 — —
38 —IRETY 71 TLEES (0060 35 G 405 — —
39 — I R4S T ) 7 m (HE ) TUBE 0. 034 0.034
10 — IR T ) 7 m (75 M) BRI 0.008 0.008
41 —MRETY 7 n TUBES 0.100 ° 0. 047 XA TFHEIOL, HER
42 —MEET ) 7 G UEMEAD) TLEEA - (RHA (HE5EAR) — —
43 —IRETY 7 G GEMAEA D) TR « (R ITAK (R 3EIR) — —
44 —EETY 7 G (L) B - (R (1) — —
45 —BHRAE T Y 7 H UEMAEA D) TR + (RITA (A - 94 o —
46 —IHEE T Y 7 H LA D) TLEEH -+ (R (B - i) — —
47 —BEAE T 7 H (ki) FLEEH - (RITA (RS - 4R — —
48 —WFRAE T 7 M (@A D) TLEES - (RIFA (4R — —
49 —MFRAE T 7 M (HEAD) TS « (R IPA (6 1R) — =
50 —IERETY 7T TR « (R (HE3EAR) 0. 001 0.001
51 —WRETY Ta o 5 ol 5 0. 005 0. 005
59 —IFRE T 7b 03 (R A — —
53 —WHAE T 7 ol 355 (3 2 — —
54 — IR T 7 5 il 255 - —
55, —HRETY T ol 1 e 2 5 0. 004 0.004
56 —IRETY 7o (51 3 (e 4 5 - —




(mSv/h)

HBHRERMES (R

1. 000
0.100 = 5
- 1] ol
Y2 a T
L=ty
0.010 = =
= PR, R Ly g s
= P R |
o LV TN, |
041 20/8/1 20/12/1 C2l/4/1 C21/8/1 C2i/12/1 22/t 22/8/1 C2a/1e/1 23/4/1 C23/8/1 23121 24/
—o— EHRERYREE (91 AT e BHEEIMRRE (B 210 —O— EHRRMFER @3 E~F8 i) —H——BREIUTAI

—#——BRETYTA2
| ———BRETUZE]
—o— —HRETUTZN
—lﬁﬁix‘ Y7y
| e ERERNREE G5 o B AT IR
b —BRETY 7 m ([E&M)
e EAERMEER (1 048)10-A

—BRETY7CC

—— —HBRETUTB

—— —BREIVTE?2

—O0— —-HBREIVTO

— —BRETUTW

—— —HRETUT d

e —BREIYT 0

e ESERHFEE (1 048)10-8

o —BRETIYTDODIDD2

———BREIUTC

—0——HREIVT

e —BREIUTPI

e —BRETYT X

e —BREIUT e
ERERANRRE (5 1 18)
ESESARER (1 04 10-C

—BREIYTEE]

— —HBREIUTD

—HBRETUTL

| —— —ERETUTP 2

et E RG89 BB IR

ke —BRETY T m (A

et —BREIYTF1, F2

el —HRETIVUTBE

—BREIUTEE2 |

]'<l3(3](vl/ ) BAREMES (RIEKR)

0. 100

0.010

0000 TVETA I Y i /81 /121 2

—H— —BRETY7 G HLHmAD)
e —BRETY 7 H {LHFEAD)

———-HBREIUTT

e —BRELY 7 G (LEEEAD)
—BSRETUTH (LA

—— —HBRETIUTV

—O0— —BREIY7 G (LEM)

——BREIUTMEAD)

24/

—t——BRETY 7 H HEEHEAD)

—— —BREIYTMEAD)

(mSv/h)

1.000 g

BRERMELS (ERFRER)

‘24741

0. 100
0.010 = =
o RO
001
'20/4/1 "20/8/1 "20/12/1 2174/ C21/8/1 "21/12/1 "22/4/1 C22/8/1 '22/12/1 '23/4/1 " 23/8/1 "23/12/1
—t— —BEEIYTa e —BRETUTH —— —BEETYT( —o— —HBRETYT0 ———BRETUT

——HRETUT|

—t——BREIUTAA

—— —BRELUT

e —BRETY 7k ([EAD)

=t —BRELY 7k (RAD)




